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64 =<O F<FD4 F4  < DDG>F>7O, 4 ??4 D4 F=O= <4 EE4 6 ?D>EF4 FO <>65F ?D<6>4<FL > 
G65?<G5=<N ?>46<6=>EF< E?5D<4 F>7><4>6. &4 >65 74 >>=><5D=> GE<?5=<5 >D74 EF<-
G5E><E >MGM5=<=, GF> E6O74 => E ?>6OL5=<5< F>=GE4  E5<O6O5D4 EO64 NM<E ?D>F>-
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>>6 <, E>>F65FEF65==>, 5>?55 6OD4 65==O< D4 74D4 65=<5< E5<5==>7> 5G7>D>4  ?D< 
E5<O<765D65=<<. 

$57G?LF4 F>< 4 ??4 D4 F=>7> <4 EE4 64  F4 >65 O6?O5FEO G<5=LL5=<5 5>?57=5==>EF< 
?D>EF4 FO (>4 > ?4 ?L?4 F>D=>=, F4 > < E4 <>EF>OF5?L=>=) 5?4 7>44 DO G<5=LL5=<N 
D5F5=F<< < >5N5<4  65?57O < <5=LL5<G 6 E6O7< E MF<< D4 EFO65=<N >4 ?EG?O. -F<< 
65 >5NOE=ONFEO >5?57G5=<5 <>G5<E?GE>4 =<O < G<5=LL5=<5 ?>??4 ><GD<< (-.�. �D-
=>?L4<, 1999). 

�47=<F>F5D4?56F<G5E>>5 6>745=EF6<5

$5>F4 ?L=O= >4 DFD<46 4 ??4 D4 F4  %��$&-�$�%& 75=5D<DG5F ?>EF>O==>5 <?< 
=<7>>G4 EF>F=>5 ?5D5<5==>5 (4> 99 �F) <4 7=<F=>5 ?>?5 =4 ?DO65==>EFLN 10±3 <&E.

�4 7=<F>F5D4 ?<O >>4 7O64 5F 4 =4 ?L757<DGNM55, 7<?>>>4 7G?<DGNM55, <<<G=><>-
4G?<DGNM55, 4 44 ?F>75==>5 45=EF6<5, 4  F4 >65 E>EG4>D4 EL<DONM55 45=EF6<5 =4  
GD>6=5 <<>D>F<D>G?OF<<. �>?>6<F5?L=>5 6?<O=<5 <4 7=<F=OE ?>?5= =4  5<>?>7<-
G5E><5 ?D>F5EEO 6 >D74 =<7<5, 6 F>< G<E?5, ?D< ?5G5=<< 74 5>?564 =<= ?D>EF4 FO, 
>F<5G5=O <=>7<<< E?5F<4 ?<EF4 <<: �.�. �>=><4 D5=>>, �.� &GD>>6><=, (2006), -.�. 
�D=>?L4<, (1999) �64 =G5=>> �.�., �>74>54  �.%., �>E>6<= %.� (2009) < 4D. � =4 EF>O-
M55 6D5<O <5E4 =<7< F5D4 ?56F<G5E>>7> 6>745=EF6<O <4 7=<F=>7> ?>?O =4  >D74 =<7< 
4> >>=F4  =5 <7GG5=. %>6D5<5==O5 <EE?54>64 =<O >F6>4OF 654GMGN D>?L 6 F5D4 ?56-
F<G5E>>< MDD5>F5 <4 7=<F>F5D4 ?<< <4 7=<F>GG6EF6<F5?L=><G ?D>F5EEG D5>><-
5<=4 F<< E6>5>4=OE D4 4<>4 ?>6 6 5<>?>7<G5E><E F>4 =OE (�.�. �>=><4 D5=>>, �.�. 
&GD>>6E><=, 2006): «�5E4 =<7< ?5D5>?NG5=<O >5GE?>6?5= 674 <<>45=EF6<5< E>5-
EF65==OE <4 7=<F=OE <><5=F>6 M?5>FD>=>6 E> E?<=4 << O45D (=4 ?D<<5D, ?D>F>-
=>6) D54 7<DGNM<E <>?5>G?. �>>4 74 =>, GF> E>>D>EF< D54 >F<< E GG4 EF<5< D4 4<>4 ?L-
=>= ?4 DO <>7GF EGM5EF65==> (=4  45EOF>< ?D>F5=F>6) <7<5=OFLEO 6 <4 7=<F=OE 
?>?OE E <=4G>F<5= 6E57> 1- 50 <&?. �D><EE>4<F MF> <7-74  F>7>, GF> 6 >FEGFEF6<5 
6?<O=<O 6=5L=57> ?>?O, >>744  6E5 E?<=>6O5 E>EF>O=<O <7>M=5D75F<G=O, 5?4 7>44 -
DO 674 <<>45=EF6<N <4 7=<F=OE <><5=F>6 ?D>F>=>6 < =5E?4 D5==OE M?5>FD>==OE 
D4 4<>4 ?>6 ?>EF>O==> ?D><EE>4OF E<=7?5F-FD<??5F=O5 < FD<??5F-FD<??5F=O5 
?5D5E>4O <564G S-E>EF>O=<5< < FD5<O 6>7<>6=O<< &-E>EF>O=<O<<: T+1; T0; T-1. 
�4 7=<F=>5 ?>?5 E=<64 5F G4 EF>FG E<=7?5F-FD<??5F=OE ?5D5E>4>6 6E?54EF6<5 
D4 EM5??5=<O 6OD>645==>7> FD<??5F=>7> GD>6=O =4  FD< ?>4GD>6=O E D4 7?<G=>= 
M=5D7<5=. �E=>6=O5 4 =F<>>E<44 =F=O5 D5D<5=FO 3 EG?5D>>E<44<E<GF4 74  (%��) 
< >4 F4 ?4 74  3 5>?55 4 >F<6=O 6 E<=7?5F=>< E>EF>O=<<, < E=<65=<5 G4 EF>FO E<=-
7?5F-FD<??5F=OE ?5D5E>4>6 ?>6OL4 5F 4 >F<6=>EFL M=4>75==OE 4 =F<>>E<44 =F-
=OE E<EF5< >D74 =<7<4 , 6E?54EF6<5 G57> 6>7<>6=> >5NOE=5=<5 <5E4 =<7<>6 45=EF6<O 
?>EF>O==>7> ?<5> =<7>>G4 EF>F=>7> ?5D5<5==>7> < <<?G?LE=>7> <4 7=<F=>7> ?>?O 
G5D57 57> 6?<O=<5 =4  ?5D5E>4O M?5>FD>=>6 < E6>5>4=>D4 4<>4 ?L=O5 D54 >F<<.» 
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&5D<>F5D4?<O

�??4 D4 F %��$&-�$�%& >>4 7O64 5F F5??>6>5 6>745=EF6<5 =4  ?D54EF4 F5?L=GN 
65?57G G5D57 EF5=>G ?DO<>= ><L>< E ?><>MLN =4 7D564  D4 5>G5= ?>65DE=>EF< D5>-
F4 ?L=>7> >4 DFD<464  4> 38-42°% 6 GE?>6<OE ?DO<>= ><L><. �?O >><D>DF4  ?4 F<-
5=F4  ?D54GE<>FD5=4  EFG?5=G4 F4 O D57G?<D>6>4  <>M=>EF< =4 7D564  (10 EFG?5=5=). 

&5D<<G5E>>5 6>745=EF6<5 6O7O64 5F G65?<G5=<5 ?D>E65F4  D57<EF5=F=OE E>EG4>6, 

>>F>D>5 6545F > G65?<G5=<N >D>6>F>>4  < G?GGL5=<N <<>D>F<D>G?OF<<. 'E<?5=<5 

>D>6>F>>4  6 ?D54EF4 F5?L=>= 65?575 ?D<6>4<F > G65?<G5=<N 4 =F<<<>D>5=OE 

D4 >F>D>6 6E?54EF6<5 GE<?5=<O <5EF=>= ?D>4G>F<<, ?<5> GE<?5=<O ?>EFG??5=<O 

<E 6 F>4 =< <7 >D>6<, GF> E?>E>5EF6G5F M?<<<=4 F<< 6>75G4<F5?5= ?4 F>?>7<G5E-

><E ?D>F5EE>6. &4 ><< >5D4 7><, 7<?5DF5D<<O ?D>EF4 FO <>65F G=<GF>64 FL E>DO-

FGN, =5>G?LF<6<DG5<GN <<>D>D?>DG 6 F>4 =OE 65?57O (-5F<=<= �.�., �>F>6 %.�., 

2003, Sahin et al, 1998). 

%>6D5<5==O5 <EE?54>64 =<O >F<5G4 NF, GF> =4 7D564 =<5 ?D>EF4 FO GE>>DO5F 

5EF5EF65==>5 D4 7D5L5=<5 6>E?4 ?<F5?L=OE ?D>F5EE>6, >5NOE=OO MF> GE>>D5=<5< 

>5D4 7>64 =<O D<5D>7=OE < DG5F>6OE EFDG>FGD 6 >G4 75 ED>=<G5E>>7> 6>E?4 ?5=<O 

(�G?<>>6 �.�. (2013)). �D><5 F>7>, =4 7D564 =<5 ?D>EF4 FO <>65F =4 DGL4 FL D4 5>FG 

4 DD5D5=F=OE =5D6=OE 6>?>>>=, >F65G4 NM<E 74  5>?56O5 >MGM5=<O, F.5. >EGM5EF-

6?OFL E6>57> D>44  «<=FD4 ?D>EF4 F<G5E>GN E<<?4 FM>F><<N» (Perachino et al, 1993). 

�>745=EF6<5 F5<?5D4 FGD=OE D4 >F>D>6 F4 >65 >>4 7O64 5F 6?<O=<5 =4  6<4>>>D<E-

F4 ??<G5E>GN EFDG>FGDG >?5F>G=OE <5<5D4 =, E>>D>EFL < =4 ?D4 6?5=<5 <5F4 5>?<-

G5E><E D54 >F<= >?5F>> < F>4 =5=.

�����'�%��� -$$��&/

-DD5>F<6=>EFL 4 ??4 D4 F4  %��$&-�$�%& ?>4F65D645=4  E?5?O<, ??4 F55>->>=-
FD>?<DG5<O< >?<=<G5E><< <EE?54>64 =<5< ��� '$������ �� $$, 6 >>F>D>< ?D<-
=O?< GG4 EF<5 90 ?4 F<5=F>6. $57G?LF4 FO ?5G5=<O >E=>6=>= 7DG??O ?4 F<5=F>6, ?>?G-
G4 6L5= EF4 =44 DF=>5 ?5G5=<5 < D<7<>F5D4 ?<N %��$&-�$�%&, < >>=FD>?L=>= 7DG??O 
?4 F<5=F>6, ?>?GG4 6L5= EF4 =44 DF=>5 ?5G5=<5 < ??4 F55> (4 ??4 D4 F %��$&-�$�%& E 
D4 5>F4 NM<<< 4<E??5O<<, => E >F>?NG5==O<< D<7<>F5D4 ?56F<G5E><<< 6>745=-
EF6<O<<) 7=4 G<F5?L=> >F?<G4 NFEO. � >E=>6=>= 7DG??5 ?> ED4 6=5=<N E >>=FD>?L=>=:

" �4  42% 6OL5 <4 >E<<4 ?L=4 O E>>D>EFL <>G5<E?GE>4 =<O; 
" �4  47% <5=LL5 >5N5< >EF4 F>G=>= <>G<;
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" �4  72% =<65 >>?<G5EF6> ?5=>>F<F>6, >?D545?O5<OE 6 ?>?5 7D5=<O 6 E5>D5F5 
?D>EF4 FO; 

" �4  12% 6OL5 >4 G5EF6> 6<7=< ?4 F<5=F>6 (?> L>4 ?5 NIH-CPPS);
" �>?55 6OD4 65==>5 G<5=LL5=<5 5>?< < 4<7GD<G5E><E ?D>O6?5=<=.

%D54=55 7=4G5=<5 <4>E<<4?L=>= E>>D>EF< <>G5<E?GE>4=<O

�> ?5G5=<O �>E?5 ?5G5=<O

�E=>6=4 O 7DG??4 14,7 <?/E 22,3 <?/E 

�>=FD>?L=4 O 7DG??4 14,8 <?/E 16,3 <?/E

%D54=55 >>?<G5EF6> >EF4F>G=>= <>G<

�> ?5G5=<O �>E?5 ?5G5=<O

�E=>6=4 O 7DG??4 35,7 <? 9,5 <?

�>=FD>?L=4 O 7DG??4 43,0 <? 31,7 <? 

%D54=55 7=4G5=<5 >>?<G5EF64 ?5=>>F<F>6 6 E5>D5F5 ?D>EF4FO (6 ?>?5 7D5=<O)

�> ?5G5=<O �>E?5 ?5G5=<O

�E=>6=4 O 7DG??4 7,3 6 ?/7D 1,27 6 ?/7D

�>=FD>?L=4 O 7DG??4 7,3 6 ?/7D 6,5 6 ?/7D

%D54=<= >5M<= 54?? L>4?O >F5=>< >4G5EF64 6<7=< < E<<?F><4F<>< (NIH-CPPS)

�> ?5G5=<O �>E?5 ?5G5=<O

�E=>6=4 O 7DG??4 25,2 9,0 

�>=FD>?L=4 O 7DG??4 25,3 12,0

�> D57G?LF4 F4 < >?<=<G5E>>7> <EE?54>64 =<O 4 ??4 D4 F %��$&-�$�%& D5>>-
<5=4>64 = > ?D<<5=5=<N 6 E>EF4 65 >><??5>E=>= F5D4 ?<< 4?O ?5G5=<O ?4 F<5=F>6 
E ED>=<G5E><< ?D>EF4 F<F><.
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'%&$��%&�� ����$�&�

�??4 D4 F E>EF><F <7 G?D4 6?ONM57> ?G?LF4 , E5F56>7> 4 44 ?F5D4  (5?>>4  ?<F4 =<O) 
< D5>F4 ?L=>7> >4 DFD<464 .

'EFD>=EF6> G?D46?ONM57> ?G?LF4

1 11

2

3

10

4

9

5
8

6 7
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1. %��&����� «����»  
%<7=4 ?<7<DG5F > D4 75?>><D>6>5 ?G?LF4  4?O D4 5>FO 6 D56<<5 «�$�'»*.

2. ��$%��� ��%����  
�5D4 F=O= >FEG5F 6D5<5=< ?5G55=>= ?D>F54GDO (F4 =<5D). � D56<<5 «�$�'» 3  
>F>5D4 65=<5 =><5D4  6O5D4 ==>= ?D54GEF4 =>6?5==>= ?5G55=>= ?D>7D4 <<O < 
6O5D4 ==>= ?D>4>?6<F5?L=>EF< ?5G55=>7> E54 =E4  6 <<=GF4 E.

3. %$����� ��%����  
�> 6D5<O ?5G55=>= ?D>F54GDO 3 >F>5D4 65=<5 F5>GM5= G4 EF>FO ��-<7?GG5=<O 
< G4 EF>FO <4 7=<F=>7> ?>?O. 

4. ������ ��%����   
�> 6D5<O ?5G55=>= ?D>F54GDO 3 >F>5D4 65=<5 GEF4 =>6?5==>= <>M=>EF<  
=4 7D564  < <>M=>EF< 6<5D4 F<< (6 GE?>6=OE 54<=<F4 E >F 1 4> 10).

5. �����,� «��&����»  
�>?NG5=<5 < 6O>?NG5=<5 4 ??4 D4 F4 .

6. ����/ ��'�.-�/%/ �����,�  
$57G?<D>6>4  <>M=>EF< =4 7D564 . � D56<<5 «�$�'» 3 6O5>D ?D54GEF4 =>6?5=- 
=>= ?5G55=>= ?D>7D4 <<O.

7. �����,� «��»  
�=>?>4  74 ?GE>4  ?5G55=>= ?D>F54GDO; ?4 G74  6> 6D5<O ?5G55=>= ?D>F54GDO.

8. �$���/ ��'�.-�/%/ �����,�  
$57G?<D>6>4  <>M=>EF< 6<5D4 F<<. � D56<<5 «�$�'» 3 6O5>D ?D>4>?6<-
F5?L=>EF< ?5G55=>7> E54 =E4 .

9. �����,� «��$�» 
�O6>4 <=D>D<4 F<< >5 >5M5< >>?<G5EF65 6O?>?=5==OE 4 ??4 D4 F>< D4 5>G<E 
F<>?>6 (?5G55=OE ?D>F54GD). 

10. �����,� «����»  
$4 75?>><D>6>4  ?G?LF4  4?O D4 5>FO 6 D56<<5 «�$�'»*.

11. %��&����� «��$&$���»  
%65F<FEO 75?5=O<, 5E?< D5>F4 ?L=O= >4 DFD<46 ?>4>?NG5= > ?G?LFG < <E?D4 65=. 
%65F<FEO >D4 E=O<, 5E?< D5>F4 ?L=O= >4 DFD<46 =5<E?D4 65=.

* $56<< «�$�'» ?D54=4 7=4 G5= 4?O E?5F<4 ?<EF>6. 
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$��.�� «-���&$���&����» ?D54=4 7=4 G5= 4?O ?>4>?NG5=<O 5?>>4  ?<F4 =<O.
$��.�� «USB» ?D54=4 7=4 G5= 4?O ?>4>?NG5=<O D5>F4 ?L=>7> >4 DFD<464 .

'EFD>=EF6> D5>F4?L=>7> >4DFD<464

                    ��-4<>4O               �D<5=F<DGNM55 D55D>

$4 5>G4 O 7>=4

$4 7N5< «-?5>FD>?<F4 =<5»

$4 7N5< «USB»

$5>F4 ?L=O= >4 DFD<46 E>EF><F <7 >>D?GE4  < E>54<=<F5?L=>7> >4 55?O. �E5 
<EF>G=<>< D<7<>F5D4 ?56F<G5E>>7> 6>745=EF6<O D4 E?>?>65=O 6 D4 5>G5= 7>=5 
D5>F4 ?L=>7> >4 DFD<464 , >>F>D4 O =4 >DOF4  ?D>7D4 G=O< ??4 EF<>>6O< M?5<5=F><. 
�D<5=F<DGNM55 D55D> E?G6<F 4?O ?D4 6<?L=>7> 66545=<O D5>F4 ?L=>7> >4 DFD<464  
6 ?DO<GN ><L>G.
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��$/��� �$�������/ ��'����� �$�&��'$/ 
� $����� «��&���&»

�> G<>?G4 =<N 4 ??4 D4 F D4 5>F4 5F 6 D56<<5 «��&���&». � MF>< D56<<5 
4 ??4 D4 F =5 FD55G5F =<>4 ><E =4 EFD>5> < 6O?>?=O5F G=<65DE4 ?L=GN ?D54-
GEF4 =>6?5==GN ?5G55=GN ?D>7D4 <<G ?D>4>?6<F5?L=>EFLN 12 <<=GF.  
'F>5O =4 G4 FL ?D>F54GDG 6 D56<<5 «��&���&» , =5>5E>4<<> E>65DL<FL E?54G-
NM<5 45=EF6<O:

1.  �EF4 6LF5 E5F56>= 4 44 ?F5D 6 M?5>FD<G5E>GN D>75F>G, 74 F5< ?>4>?NG<F5 >4 55?L 
E5F56>7> 4 44 ?F5D4  > D4 7N5<G «?<F4 =<5» G?D4 6?ONM57> ?G?LF4 . 

2.  �>4>?NG<F5 >4 55?L D5>F4 ?L=>7> >4 DFD<464  > D4 7N5<G USB G?D4 6?ONM57> 
?G?LF4 , ?D< MF>< D5>F4 ?L=O= >4 DFD<46 ?D>6545F >>D>F>GN E4 <>4<4 7=>EF<>G 
(?D>65D<F D4 5>F>E?>E>5=>EFL 6E5E E6><E E<EF5<).

3.  �45=LF5 =4  D5>F4 ?L=O= >4 DFD<46 ?D575D64 F<6, 74 F5< =4 =5E<F5 =4  ?D575D64 F<6 
=55>?LL>5 >>?<G5EF6> ?G5D<>4 =F4 .

$5>F4 ?L=O= >4 DFD<46

'?D4 6?ONM<= ?G?LF

%5F56>= 4 44 ?F5D
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�DO<4 O ><L>4

�>G56>= ?G7ODL

�D>EF4 F4

�>?>6>= G?5=

/<G><

��-4<>4O

�D<5=F<DGNM55  
D55D>

4.  � ?>?>65=<< ?564  =4  5>>G =>7< ?>?GE>7=GFO, 6654<F5 D5>F4 ?L=O= >4 DFD<46 
6 74 4=<= ?D>E>4, >D<5=F<DGNM<< D55D>< 6 EF>D>=G ?D>EF4 FO (6 EF>D>=G 
O<G5> < ?>?>6>7> G?5=4 ).

5.  �?O 6>?NG5=<O 4 ??4 D4 F4  =4 6<<F5 =4  ?G?LF5 75?5=GN >=>?>G «?<F4 =<5». 

6. �4 6<<F5 >=>?>G «��» 4?O 74 ?GE>4  G=<65DE4 ?L=>= ?D54GEF4 =>6?5==>=  
?5G55=>= ?D>7D4 <<O.

�D46<?L=>5 D4E?>?>65=<5 D5>F4?L=>7> >4DFD<464 6 ?DO<>= ><L>5

�D<<5D: 

�??4 D4 F =4 E>4<FEO 6 D56<<5 «��&���&» 
< 7>F>6 > 6O?>?=5=<N G=<65DE4 ?L=>= ?D54-
GEF4 =>6?5==>= ?5G55=>= ?D>7D4 <<O ?D>4>?-
6<F5?L=>EFLN 12 <<=GF.

�$��$���� %���%

&����$

&���/ �'�,&�

�� �����&

&���/ ��$&$����

���$�� ���$�&�/
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�$��$���� %���%

&����$

&���/ �'�,&�

�� �����&

&���/ ��$&$����

���$�� ���$�&�/

�> 6D5<O ?D>F54GDO <<55FEO 6>7<>6=>EFL:

1. �>=FD>?<D>64 FL >5D4 F=O= >FEG5F 6D5<5=< ?D>F54GDO =4  65DE=5< 4<E??55.

2. �>=FD>?<D>64 FL F5>GM<5 ?4 D4 <5FDO D4 5>FO 4 ??4 D4 F4  =4  ED54=5< < =<6=5< 
4<E??5OE. �4  ED54=5< 4<E??55 >F>5D4 64 5FEO F5>GM4 O G4 EF>F4  ��-<7?GG5=<O 
< F5>GM4 O G4 EF>F4  <4 7=<F=>7> ?>?O (5E?< ��-<7?GG5=<5 <?< <4 7=<F=>5 ?>?5 
?>EF>O==O5, F> >F>5D4 64 5FEO E<<6>? «%>» 3 Constanta). �4  =<6=5< 4<E??55 
>F>5D4 64 5FEO GEF4 =>6?5==4 O <>M=>EFL =4 7D564  < E<?4  6<5D4 F<< 6 GE?>6=OE 
54<=<F4 E >F 1 4> 10. �E?< 6>745=EF6<5 >FEGFEF6G5F, F> =4  E>>F65FEF6GNM5< 
4<E??55 >F>5D4 64 5FEO E<<6>? «-».

3. �56>= >4 G4 NM5=EO >?4 6<L5= D57G?<D>64 FL <>M=>EFL =4 7D564  D4 5>G5= ?>65DE-
=>EF< D5>F4 ?L=>7> >4 DFD<464  (6 74 6<E<<>EF< >F <=4<6<4G4 ?L=>= GG6EF6<-
F5?L=>EF<). �>M=>EFL =4 7D564  >F>5D4 64 5FEO =4  E>>F65FEF6GNM5< 4<E??55 
?G?LF4  6 GE?>6=OE 54<=<F4 E >F 1 4> 10.

4. �D4 6>= >4 G4 NM5=EO >?4 6<L5= D57G?<D>64 FL <>M=>EFL 6<5D4 F<< (6 74 6<E<-
<>EF< >F <=4<6<4G4 ?L=>= GG6EF6<F5?L=>EF<). �>M=>EFL 6<5D4 F<< >F>5D4 -
64 5FEO =4  E>>F65FEF6GNM5< 4<E??55 ?G?LF4  6 GE?>6=OE 54<=<F4 E >F 1 4> 10.

5. �=>?>>= «��» ?D<>EF4 =4 6?<64 FL, 4  ?>6F>D=O< =4 64 F<5< MF>= >=>?>< 3  
6>7>5=>6?OFL ?D>F54GDG.

��������! �> 6D5<O ?D>F54GDO, ?D< E?GG4 ==>< >F>?NG5=<< D5>-
F4 ?L=>7> >4 DFD<464  >F G?D4 6?ONM57> ?G?LF4  <?< G?D4 6?ONM57> 
?G?LF4  >F 5?>>4  ?<F4 =<O, 4 ??4 D4 F 65D=5FEO 6 <EE>4=>5 E>EF>O=<5 ?>-
E?5 >5D4 F=>7> ?>4>?NG5=<O >4 55?O. �?O >>DD5>F=>= D4 5>FO 4 ??4 D4 F4  
<564G >F>?NG5=<5<-?>4>?NG5=<5< 4>?6=4  5OFL 6O45D64 =4  ?4 G74  
=5 <5=55 3-E E5>G=4. 

�D<<5D: 

4> >>>=G4 =<O ?D>F54GDO >EF4 ?>EL 8 <<=GF 
37 E5>G=4. ��-6>745=EF6<5 ?>EF>O==>5 
(Constanta). '4 EF>F4  <4 7=<F=>7> ?>?O 3 50 
�F.  �EGM5EF6?O5FEO =4 7D56 D4 5>G5= G4 -
EF< D5>F4 ?L=>7> >4 DFD<464  <>M=>EFLN 8  
GE?>6=OE 54<=<F. �<5D4 F<O >FEGFEF6G5F.
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�>E?5 >>>=G4=<O ?D>F54GDO

1.  �F>?NG<F5 4 ??4 D4 F >=>?>>= «?<F4 =<5». 

2.  �76?5><F5 D5>F4 ?L=O= >4 DFD<46 <7 74 4=57> ?D>E>44 , E=<<<F5 E =57> < GF<-
?<7<DG=F5 ?D575D64 F<6.

3.  �D< =5>5E>4<<>EF< >FE>54<=<F5 >4 55?L D5>F4 ?L=>7> >4 DFD<464  >F G?D4 6-
?ONM57> ?G?LF4 . 

4.  �D< =5>5E>4<<>EF< ?D><>=F5 <?< ?D>457<=D<F<DG=F5 D5>F4 ?L=O= >4 DFD<46. 

5.  �F>?NG<F5 G?D4 6?ONM<= ?G?LF >F E5F56>7> 4 44 ?F5D4  < <76?5><F5 E5F56>= 
4 44 ?F5D <7 M?5>FD<G5E>>= D>75F><.

��$/��� �$�������/ ��'����� �$�&��'$/ 
� $����� «�$�'»

 � D56<<5 «�$�'» <<55FEO 6>7<>6=>EFL 6O5D4 FL (6 74 6<E<<>EF< >F E4 D4 >-
F5D4  ?4 F>?>7<< < F4 >F<>< ?5G5=<O) >4=G <7 E5<< ?D54GEF4 =>6?5==OE ?5G55=OE 
?D>7D4 << < 74 44 FL 6D5<O ?D>F54GDO >F 7 4> 15 <<=GF. $56<< «�$�'» ?D54=4 7=4 -
G5= 4?O E?5F<4 ?<EF>6 < ?> G<>?G4 =<N 74 5?>><D>64 =. 'F>5O =4 G4 FL ?D>F54GDG 6 
D56<<5 «�$�'», =5>5E>4<<> E>65DL<FL E?54GNM<5 45=EF6<O:

1.  �EF4 6LF5 E5F56>= 4 44 ?F5D 6 M?5>FD<G5E>GN D>75F>G, 74 F5< ?>4>?NG<F5 >4 55?L 
E5F56>7> 4 44 ?F5D4  > D4 7N5<G «?<F4 =<5» G?D4 6?ONM57> ?G?LF4  (D<E. EFD. 15). 

2.  �>4>?NG<F5 >4 55?L D5>F4 ?L=>7> >4 DFD<464  > D4 7N5<G USB G?D4 6?ONM57> 
?G?LF4 , ?D< MF>< D5>F4 ?L=O= >4 DFD<46 ?D>6545F >>D>F>GN E4 <>4<4 7=>EF<>G 
(?D>65D<F D4 5>F>E?>E>5=>EFL 6E5E E6><E E<EF5<).

3.  �45=LF5 =4  D5>F4 ?L=O= >4 DFD<46 ?D575D64 F<6, 74 F5< =4 =5E<F5 =4  ?D575D64 -
F<6 =55>?LL>5 >>?<G5EF6> ?G5D<>4 =F4 .

4.  � ?>?>65=<< ?564  =4  5>>G =>7< ?>?GE>7=GFO, 6654<F5 D5>F4 ?L=O= >4 DFD<46 
6 74 4=<= ?D>E>4, >D<5=F<DGNM<< D55D>< 6 EF>D>=G ?D>EF4 FO (6 EF>D>=G 
O<G5> < ?>?>6>7> G?5=4 , D<E. EFD. 16).

5.  �?O 6>?NG5=<O 4 ??4 D4 F4  =4 6<<F5 =4  ?G?LF5 75?5=GN >=>?>G «?<F4 =<5». 

6. �4 6<<F5 >?4 6<LG «����» GF>5O D4 75?>><D>64 FL ?G?LF 4?O D4 5>FO 6 D56<<5 
«�$�'». � D4 75?>><D>6>5 ?G?LF4  4?O D4 5>FO 6 D56<<5 «�$�'» E<7=4 ?<7<DG-
5F E65F>4<>4 «����».

7. �56>= >4 G4 NM5=EO >?4 6<L5= 6O55D<F5 >4=G <7 E5<< ?D54GEF4 =>6?5==OE ?5-
G55=OE ?D>7D4 << (=><5D 6O5D4 ==>= ?D>7D4 <<O >F>5D4 64 5FEO 6 ?56>= G4 EF< 
65DE=57> 4<E??5O). �D>7D4 <<4  71 ?> =4 5>DG 6>745=EF6<= 4 =4 ?>7<G=4  G=<-
65DE4 ?L=>= ?D54GEF4 =>6?5==>= ?5G55=>= ?D>7D4 <<5 6 D56<<5 «��&���&».
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�D54GEF4=>6?5==O5 ?5G55=O5 ?D>7D4<<O

�D>7D4 <<4 �4 EE4 6 �4 7D56 �� �4 7=<F

7 1 " " " "

7 2 " " " -

7 3 - " " -

7 4 " - - "

7 5 " - - -

7 6 - " " "

7 7 - - - "

�D< 6O5>D5 ?D54GEF4 =>6?5==>= ?5G55=>= ?D>7D4 <<O, =4  ED54=5< < =<6=5< 4<E??5OE 

E<<6>?>< « o » >5>7=4 G4 5FEO =4 ?<G<5 E>>F65FEF6GNM<E D<7<>F5D4 ?56F<G5E><E 

6>745=EF6<= 6 6O5D4 ==>= ?D>7D4 <<5. 

8. �D4 6>= >4 G4 NM5=EO >?4 6<L5= 6O55D<F5 ?D>4>?6<F5?L=>EFL ?5G55=>7> 
E54 =E4  >F 7 4> 15 <<=GF (6O5D4 ==4 O ?D>4>?6<F5?L=>EFL ?5G55=>7> E54 =E4  
>F>5D4 64 5FEO 6 ?D4 6>= G4 EF< 65DE=57> 4<E??5O).

9. �4 6<<F5 >=>?>G «��» 4?O 74 ?GE>4  6O5D4 ==>= ?D54GEF4 =>6?5==>= ?5G55-
=>= ?D>7D4 <<O.

 �4 ?55 3 4 =4 ?>7<G=> D56<<G «��&���&» (E<. EFD. 17-18).

�D<<5D:

�O5D4 =4  ?5G55=4 O ?D>7D4 <<4  76. �O5D4 =4  
?D>4>?6<F5?L=>EFL ?5G55=>7> E54 =E4  10 <<-
=GF. �O5D4 ==>= ?D>7D4 <<>= ?D54GE<>FD5=O: 
��-F5D4 ?<O, <4 7=<F>F5D4 ?<O, F5D<>F5D4 ?<O 
(=4 7D56). �O5D4 ==>= ?D>7D4 <<>= =5 ?D54GE- 
<>FD5= 4 ??4 D4 F=O= <4 EE4 6 (6<5D4 F<O).

�$��$���� %���%

&����$

&���/ �'�,&�

�� �����&

&���/ ��$&$����

���$�� ���$�&�/
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�57<=D5>F<O =4 DG6=OE ?>65DE=>EF5= 4 ??4 D4 F4  ?D>6>4<FEO ?> <5D5 =5>5-
E>4<<>EF<. D4 EF6>D>< 3% ?5D5><E< 6>4>D>44  ?> ��%& 177 E 4>54 6?5=<5< 0,5% 
<>NM57> ED54EF64  ?> ��%& 25644 (E>7?4 E=> �5F>4<G5E><< G>4 74 =<O< ?> 457<=-
D5>F<<, ?D54EF5D<?<74 F<>==>= >G<EF>5 < EF5D<?<74 F<< <745?<= <54<F<=E>>7> 
=4 7=4 G5=<O �'-287-113 >F 30.12.98 7). $5>F4 ?L=O= >4 DFD<46 GEF>=G<6 > EF5D<-
?<74 F<< E<<<G5E><< <5F>4>< ?> �'-287-113 >F 30.12.1998 7. �>E?5 ?D>6545=<O 
457<=D5>F<< GEFD>=EF6> E?54G5F ?D>EGL<FL.

��������! �5 4>?GE>4 5FEO ?>?4 44 =<5 457<=D<F<DGNM57> D4 EF6>D4  
< 4DG7<E 6<4>>EF5= =4  M?5>FD<G5E><5 D4 7N5<O < LF5>5DO. 

��$/ ������%��%&�

� ?D>F5EE5 M>E??G4 F4 F<< >4 55?L D5>F4 ?L=>7> >4 DFD<464  < 5?>>4  ?<F4 =<O 
=5 4>?65= 5OFL =4 FO=GF. �??4 D4 F E?54G5F 6>?NG4 FL <E>?NG<F5?L=> 6 <E?D4 6-
=GN M?5>FD<G5E>GN D>75F>G, E E4 D4 >F5D<EF<>4 << E5F<, G>4 74 ==O<< 6 F5E=<G5-
E><E E4 D4 >F5D<EF<>4 E. �4 ?D5M4 5FEO M>E??G4 F4 F<O 4 ??4 D4 F4  ?D< =4 ?<G<< FD5M<= 
< E>>?>6 =4  >>D?GE5 E5F56>7> 4 44 ?F5D4 , G?D4 6?ONM57> ?G?LF4  <?< D5>F4 ?L=>7> 
>4 DFD<464 , 4  F4 >65 ?>6D5645=<= M?5>FD<G5E><E >4 55?5=. �D< D4 5>F5 E 4 ??4 -
D4 F>< =5>5E>4<<> E>5?N44 FL ?D>F<6>M?<45<<G5E><5 <5DO. �5 4>?GE>4 5FEO 
?>?4 44 =<5 457<=D<F<DGNM57> D4 EF6>D4  < 4DG7<E 6<4>>EF5= =4  M?5>FD<G5E><5 
D4 7N5<O < LF5>5DO. �E?>?L7>64 =<5 4 ??4 D4 F4  «%��$&-�$�%&» 4>?GE>4 5FEO <5-
4<F<=E><< ?5DE>=4 ?>< <?< ?4 F<5=F>< E4 <>EF>OF5?L=> F>?L>> ?>E?5 >>=EG?L-
F4 F<< 6D4 G4 . 

'%����/ -�%��'�&�&��

�??4 D4 F 4>?GE>4 5FEO M>E??G4 F<D>64 FL ?D< F5<?5D4 FGD5 >>DG64 NM57> 
6>74GE4  >F +15 4> +40°%; >F=>E<F5?L=>= 6?4 6=>EF< 6>74GE4  =5 5>?55 85%.  
�5 4>?GE>4 NFEO G44 DO < 4DG7<5 <5E4 =<G5E><5 6>745=EF6<O, >>F>DO5 <>7GF ?D<65EF< 
> ?>6D5645=<N >>D?GE4  4 ??4 D4 F4  <?< 57> 6=GFD5==<E M?5<5=F>6. &D55G5FEO E>5?N-
44 FL <5DO 4 =F<EF4 F<G5E>>= 557>?4 E=>EF<.
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�??4 D4 F 4>?GE>4 5FEO ED4 =<FL < FD4 =E?>DF<D>64 FL ?D< F5<?5D4 FGD5 >>DG64 -
NM57> 6>74GE4  >F 3 10 4> + 40°%; >F=>E<F5?L=>= 6?4 6=>EF< 6>74GE4  =5 5>?55 85%.  
�5 4>?GE>4 NFEO G44 DO < 4DG7<5 <5E4 =<G5E><5 6>745=EF6<O, >>F>DO5 <>7GF ?D<-
65EF< > ?>6D5645=<N >>D?GE4  4 ??4 D4 F4  <?< 57> 6=GFD5==<E M?5<5=F>6. &D55G5F-
EO E>5?N44 FL <5DO 4 =F<EF4 F<G5E>>= 557>?4 E=>EF<.

&�%��'�%��� ��%�'������� 

&5E=<G5E>>5 >5E?G6<64 =<5 4 ??4 D4 F4  %��$&-�$�%& >EGM5EF6?O5FEO F>?L>> 
6 E5DF<D<F<D>64 ==OE >><?4 =<5=-<77>F>6<F5?5< E5D6<E=OE F5=FD4 E. �EO =5>5-
E>4<<4 O >>=F4 >F=4 O <=D>D<4 F<O ?> F5E=<G5E>><G >5E?G6<64 =<N D4 7<5M5=4  
=4  <=F5D=5F-E4 =F5 www.smartprost.ru.

��$��&�/ ����&���&��/

�4 D4 =F<==O= ED>> M>E??G4 F4 F<< 4 ??4 D4 F4  3 12 <5EOF56 E> 4=O ?D>44 6<. � 
F5G5=<5 74 D4 =F<==>7> ED>>4  ?D54?D<OF<5-<77>F>6<F5?L 5576>7<574=> D5<>=-
F<DG5F <?< 74 <5=O5F GEFD>=EF6> <?< 57> E>EF4 6=O5 G4 EF< 6 E?GG4 5 F5E=<G5E>>= 
=5<E?D4 6=>EF<. �4 D4 =F<O 45=EF6<F5?L=4  ?D< E>5?N45=<< ?>FD55<F5?5< GE?>-
6<= M>E??G4 F4 F<<, ED4 =5=<O < FD4 =E?>DF<D>6>< 4 ??4 D4 F4 , 4  F4 >65 ?D< =4 ?<G<< 
74 ?>?=5==>7> 74 D4 =F<==>7> F4 ?>=4  E G>4 74 =<5< 74 6>4E>>7> =><5D4  <745?<O, 
44 FO ?D>44 6< < ?5G4 F< F>D7GNM5= >D74 =<74 F<<. �4 D4 =F<O =5 D4 E?D>EFD4 =O5FEO 
=4  E?54GNM<5 E?GG4 <: <<5NFEO E?54O ?>EF>D>==57> 6<5L4 F5?LEF64  6 GEFD>=-
EF6>; <<5NFEO =5E4 =>F<>=<D>64 ==O5 <7<5=5=<O 6 >>=EFDG>F<<; <<5NFEO <5E4 -
=<G5E><5 ?>6D5645=<O; <<5NFEO ?>6D5645=<O, 6O764 ==O5 ?>?4 44 =<5< 6=GFDL 
?>EF>D>==<E ?D54<5F>6, 65M5EF6, 6<4>>EF5=; <<5NFEO ?>6D5645=<O, 6O764 =-
=O5 =5E>>F65FEF6<5< ?4 D4 <5FD>6 ?<F4 NM5= M?5>FD<G5E>>= E5F<; <<5NFEO 
?>6D5645=<O, 6O764 ==O5 45=EF6<5< EF4 F<G5E>>7> M?5>FD<G5EF64 .
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�??4D4F=O= <4EE46

�>M=>EFL 6<5D4 F<< >F 0 4> 500 <�F. $57G?<D>6>4  <>M=>EF< 6<5D4 F<< ?D><EE>4<F E 
L4 7>< 50 <�F (10 GD>6=5= <>M=>EF<). '4 EF>F4  6<5D4 F<< D5>F4 ?L=>7> >4 DFD<464  557 4>-
?>?=<F5?L=>= =4 7DG7>< 6 6>74GL=>= ED545 >F 2 4> 170 �F. 32 54 7>6OE D<EG=>4  6<5D4 F<<.

�47=<F=>5 6>745=EF6<5 

�>EF>O==>5 <?< ?5D5<5==>5 =<7>>G4 EF>F=>5 (>F 1 4> 99 �F) <4 7=<F=>5 ?>?5 E <4 7-
=<F=>= <=4G>F<5= =4  ?>65DE=>EF< D5>F4 ?L=>7> >4 DFD<464  >F 10±3 <&E.

&5D<<G5E>>5 6>745=EF6<5

�4 >E<<4 ?L=4 O <>M=>EFL =4 7D564 F5?O 3.3 �F. &5<?5D4 FGD4  ?>65DE=>EF< D4 5>G5= 
7>=O D5>F4 ?L=>7> >4 DFD<464 , ?>7DG65==>7> 6 6<4>>EFL E F5<?5D4 FGD>= >F 36 4> 38°% 
E>EF4 6?O5F >F 38 4> 42°%. �D54GE<>FD5=4  EFG?5=G4 F4 O D57G?<D>6>4  <>M=>EF< =4 7D564   
(10 GD>6=5= <>M=>EF<). �D5<O 6OE>44  =4  D4 5>G<= F5<?5D4 FGD=O= D56<< 3 =5 5>?55 3 <<=GF.

�=DD4>D4E=>5 <7?GG5=<5

�EF>G=<>4 << =DD4 >D4 E=>7> <7?GG5=<O O6?ONFEO FD< ��-4<>44  4?<=>= 6>?=O 940±10 =< 
< >?F<G5E>>= <>M=>EFLN 350 <�F >4 64O=. '7>? D4 EE5<64 =<O <7?GG5=<O E>EF4 6?O5F 120 7D4 -
4GE>6. '4 EF>F4  E?54>64 =<O <<?G?LE>6 74 44 UFEO ?D>7D4 <<=> 4> 99 �F. �=F57D4 ?L=4 O <>M-
=>EFL <7?GG5=<O D57G?<DG5FEO E>64 6=>EFLN <7?GG5=<O 6 4<4 ?4 7>=5 >F 0 4> 100%.

-?5>FD>?<F4=<5

�=5L=<= 5?>> ?<F4 =<O ?D54=4 7=4 G5= 4?O D4 5>FO 6 E5FOE ?5D5<5==>7> F>>4  E G4 EF>-
F>= 50 �F < =4 ?DO65=<5< ~220� (-10%, +10%) <?< ~230� (-10%, +6%). �OE>4=O5 E4 D4 >F5-
D<EF<>< 5?>>4  ?<F4 =<O: =4 ?DO65=<5 12±0,6 �, E<?4  F>>4  4> 1,0 �. �4 75<?5=<5 ?D< D4 5>F5 
E 4 ??4 D4 F>< =5 FD55G5FEO. �4 >E<<4 ?L=>5 4>?GEF<<>5 6D5<O =5?D5DO6=>= D4 5>FO 3 1 G4 E. 
�>FD55?O5<4 O <>M=>EFL =5 5>?55 20 �F.

�DG7<5 E4D4>F5D<EF<><

�4 EE4  <EF>G=<>4  M?5>FD>?<F4 =<O =5 5>?55 170 7. �4 EE4  G?D4 6?ONM57> ?G?LF4  =5  
5>?55 500 7. �4 EE4  D5>F4 ?L=>7> >4 DFD<464  E >4 55?5< =5 5>?55 270 7. �>D?GE4  G?D4 6?ON-
M57> ?G?LF4  < D5>F4 ?L=>7> >4 DFD<464  6O?>?=5=O <7 ��%-??4 EF<>4 . �> ?>F5=F<4 ?L=><G 
D<E>G ?D<<5=5=<O 4 ??4 D4 F >F=>E<FEO > <745?<O< <54<F<=E>>7> =4 7=4 G5=<O >?4 EE4  24  ?> 
��%& $ 51609. 
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